2024/3/15 7:56
_ _ n$l16¢r“ %#ﬁﬁ%%m (4B~9H) L & A A
4R TENE 5H TERNR TERNE TERR 8 H TERNR 9H TERE
11A 11K ﬁ*ﬁﬁ @ 1 11A 11K 118
p—— 2k Ot
2 | 2 | % G RKE B IR 'l g 9 | 2 | & 2| g OXFr QmzE
= =a ==
3 7K 3 ﬁ F._?."lfnan..E 3 H 3 7}( 3 :t 3 k %jJTX I"
2 - BEEBBHK #HEYDH
4| K 4|t 4| % 4| K 48 4|k
EEERER
A | ph . = L oy o =38
5 % A%Et yn%it 5 =) x_&‘t)o)E 5 7}( 5 ﬁ @%*’xfﬁﬁzxﬁ 5 H 5 *
6|+ 6| 5 [ 6 | & 6|+ 6 | u 6|2
AR TEIEE e sdast =]
718 71X 114 718 7117 171
x & (2%F) FHTRK K
1ERM Y 3 ESKHE FES
8| A 8 | Kk 8| x 81 A 8| K 8|8
QeR&ER
0w 1 E SRR AERE 0| % ol g MAREE (~128) ol % 9|2 ol g FES
BB 5 BT
10l x SERHEE 2 ESRAE 10] 2 10l 8 IR AEREE 10l % REES ) 0l + 28 - FESETDELARE 10l %
1 EEERRRTT R b (FHIPBEER)
NRTT R b+ HiRAEREE RiEgEEs IfnY=
11| K 1| x 11| X 11K 1|8 11| Kk
FER BEEHNTA K (4BTPBER)
Y S4B KEg =T xS = e
12l e 12l g 12] Pk TvN 5 et 12| & RiEEs _ 12| B wkEA R 12| % EfEER
DFBTUREOWEBBAR (FHiBAE)
FHBHISF (~5/12) 2 #4444k A8 20 - FEEE DL
131 & 13| B 13| K 131 & 13| X 13| £
FREARA
14| @ 14| % 14| & 14| B 18] ok [F5TEEEEERL 4] 1+
B SRR
ERER EATAE #EDH 218 - FEEETHELMM
15 A 151 %K GEL LI EN) 1B+ 15| A B FRERA o[ H
] S —— ., | AR R 218 - TEFETHBLMM WEDNH
16| & 16| K aas SERE 16| B 16| & 16| £ T 16| A
FEE T R BB
17| % 17| & |=5= 17| g|l o= 17] % 17|+ 17| %
PN SE K E AR
LEENFERRAE (35) BH:E CxFEs OARK
18 18] & 18] K 18 18| B 181 7]
x REEE (1) x (HBEHRBHER) x HikES K
ORI RRE Q) BHE ez
19| & 19| B 19 7 19| & 19 19
1ESRERE K (BB HHERM) R x
4 s E
20| + 20| g |DEEER || £ [BER 20| + 20| 20| & [FFFH B
(BB HEBEER) Hus SBALI—IL
211 B 21| & 21| £ BHEX ) 211 8 21| 7k 21| =
(ZBEHBHER)
[ p——— BT R T
2| 5 Ll P " B RITERTEE 2|+ 2| g 2| »| g L) =
(3%) FHTRK
BERT (188) PTAEXE REAAH
23| & 23| K 231 H 23| & 23| & 231 B
T A NERERAR
%r‘-‘-‘- = o EI=TAY
e | & EERT 288) | B FEDTARM 24| ol + 24| % ZER
EES S hRAT 7 KREEXRT
5| % [FR= sl + 2T BEE) 25| & FEDHTARM 25| & KRBEXR sl g 25| K
(~1/27)
@EXSE @3 FELRITSHES i&&)ﬁ—x I~1
62|, s semme] 26| B 26| K| f s 26| & 26( A 26 &
27| £ 27| g PRERHRE | o | 5 PEEEE ] 1 27| % 27| 4 |OEEERARS
S R
28| H 28| & 28| & @SRRI 281 H 28| Kk 28|
2| g [RHOH 29| % 29| + 2| A 29| & 2|\
30 | e [75 O 50| & 20| @ 30| % 20| & 0| g |FEPTAR2
Al s
31| ¢ [FHEHH 31| 31|+




. 2024/3/15 7:56
_ _ TH6FE FRIETETFE (10A~3A8) L & A A
108 TEAR 11H TEAR 12H TEAR 1A TEANR 2 A TEAR 3A TERNE
= Y -
1 ia&wxljz PN 3 AR i la 1 JtH i+ i+
2RES £EES
2 [k |SHEER |,y Ak AES 2| 8 2| 8
3 KSB#FEﬁ?i%% 3 Eleﬂ:(DEI 3 | P 3|8 3|8
BRHE (KMPEERH)
REHE
4| & 4 4|7 4|+ 4| 4w
eoamemen| ¢ |7 K x x
E EES = . L
5+ 5 BHE B 5| & E3=F 50mE 5| % T R ~EREEEE 5 | K
(BEHEH)
BHR (HHEMRH RiEEL TR - T - B AR DoxxLenHE OMERART
6 6 6|2 6 6 6
H x F R ~ERBA & FETHBHEE A x S IHMBERALL x 1. 2 EEERER
B H:E O}E +:v EERK
7| B 7| % _ 7|+ 7| % 7|2 1|2
(BEEH)
ih it EI=PAY —_— —
8 | 8 ﬁ%hﬁﬁixﬁn sl a g | EHTR s | + s | +
REES
9 |k o+ 9l nm N EIES ol m ol m
FEihBRE
E=ES SER L NTHES ES=P-Y
10| x|[FR= 10| & fof w |[FEF= 4ol 4 jo| g | ALEREEER] | g [FR=
FEIhBHE 3EIBMEERRLL
3 = B 2. L
AN MRED il il RN BNEEE
DI—RAAEGHEER
SO . 5
12|+ 12| w 12|  |EHEE= 12|\ 2] x| EFEET e |
13| @ 13] & 13| & 13| g [FAPHE 13| x| EEEETA Y | 5 [TETHR
AT EEINPARKRUEE
R— 7 E TS ) - rTeE—
ne AR—YDH 1] % FEHTALES ul + 18] % xﬁnﬁ TIPS ! B $®©£ﬂ§uﬁﬂﬂn
L IoE
15| % 15| | FELTAMS 5| | 15| f“_‘fﬁﬂ? 15 + HE
(FERLEHE (MRHKRESR) E?ﬁg%% (7)
) e B s 161 A 161 A nssrmsne o | 18] P 1618
FEENAR - ERES
7= KREREE 171 8 7 7] % 17 A 17 A AT EBEMRB R UEE
LT (KB FEHTAES
18| & 18 18] 4 18] + 18] % 18] %
FHFD A £iEEe k&S K K x
= ey o
19| + 1o| u |SHMEE | o] 4 |OFFEKR | o] g 19] 19|
7 = PAN
20|\ 20|k |SHEEE | )| 5 |OKHRE 20| B 20| % 20| x [FAPH
BYEES Ol==3=3-
21| A 21| & 21| + 21| w 21| 2 21| 2
OXiEkR
1 [foes oEm 3ma FPE—HRZERD
2| K[y 2| & 2|\ ZIEY isiinsand F1E: 2|+
T o0 R E £3
23] 23| + 2| g [BES 23| x [RFTRRBQY 55| o |REHES 23| |
SEIHHBEBLRLGL
24| & 24| & 24| % 2| ¢ [BFRRBO| | o [REAE u|g|ETH
SEIHMBERBLL
25| & |ZFEPTAM 55| g |[FEOEFERIT 55| x 25| + 25| % 25| %
2| + 26| 26| % 26| B 26 | s |“FTEAEEPER 6 |
SELESHMBELRLTL
EH L NI —HE A
27| B 27| % 27| 2 27| g [FREO 27| A [BETRARER] ) |
(AT V-7°)
28| B eHES (BYEH) 28| % sl + 28| we 28 $ﬁﬁ—?§A§ftﬁ¥§ 2| 2
(B MW7)
29 K 29 ﬁ HEBEERR (~12/2) 29 = 29 7}( 29 :t
HIERREE
30| %k 30| + 0| A 30| & 3|\
BYERERE
AP
31| % 31| 31| 2 31| B
RIEFREE




